
Name:_______________________					Date:________________
Class: _____________ (      )

	3 ⨉ 7 = 21

	1(a)
_______ is a factor of 21.
_______ is a factor of 21.
So, ______ and ______ are factors of 21.

	1(b)
______ is a multiple of 7.
______ is a multiple of 3.
So, _____ is a multiple of ____ and ____.

	5 ⨉ 6 = 30

	2(a)
_______ is a factor of 30.
_______ is a factor of 30.
So, _____ and _____ are factors of _____.

	2(b)
______ is a multiple of 5.
______ is a multiple of ______.
So, _____ is a multiple of ____ and ____.

	1 ⨉ 6 = 6

	3(a)
_______ is a factor of 6.
_______ is a factor of _____.
So, _____ and _____ are factors of _____.

	3(b)
______ is a multiple of 6.
______ is a multiple of _____.
So, _____ is a multiple of ____ and ____.

	____ ⨉ 7 = 28

	4(a)
_______ is a factor of _____.
_______ is a factor of _____.
So, _____ and _____ are factors of _____.

	4(b)
______ is a multiple of ______.
______ is a multiple of ______.
So, _____ is a multiple of ____ and ____.

	____ ⨉ _____ = 24

	5(a)
_______ is a factor of _____.
_______ is a factor of _____.
So, _____ and _____ are factors of _____.

	5(b)
______ is a multiple of ______.
______ is a multiple of ______.
So, _____ is a multiple of ____ and ____.





Answers for reference

	3 ⨉ 7 = 21

	1(a)
___3____ is a factor of 21.
___7____ is a factor of 21.
So, __3___ and __7___ are factors of 21.

	1(b)
__21____ is a multiple of 7.
__21____ is a multiple of 3.
So, _21__ is a multiple of _3__ and _7__.

	5 ⨉ 6 = 30

	2(a)
__5_____ is a factor of 30.
__6_____ is a factor of 30.
So, __5__ and __6__ are factors of _30__.

	2(b)
__30____ is a multiple of 5.
__30____ is a multiple of ___6___.
So, _30__ is a multiple of _5__ and _6__.

	1 ⨉ 6 = 6

	3(a)
__1_____ is a factor of 6.
___6____ is a factor of __6___.
So, __1__ and __6__ are factors of __6__.

	3(b)
__6____ is a multiple of 6.
__6____ is a multiple of __1___.
So, __6__ is a multiple of _1__ and _6__.

	__4__ ⨉ 7 = 28

	4(a)
___4____ is a factor of _28____.
___7____ is a factor of _28____.
So, __4__ and __7__ are factors of _28__.

	4(b)
__28____ is a multiple of __4____.
__28____ is a multiple of ___7___.
So, __28__ is a multiple of _4_ and _7__.

	__3__ ⨉ __8___ = 24

	5(a)
___3____ is a factor of __24___.
___8____ is a factor of __24___.
So, __3__ and __8__ are factors of _24__.

	5(b)
__24____ is a multiple of __3____.
__24____ is a multiple of __8____.
So, __24__ is a multiple of _3__ and _8__.




Name:_______________________					Date:________________
Class: _____________ (      )

	21 ÷ 7 = 3

	1(a)
_______ is a factor of 21.
_______ is a factor of 21.
So, ______ and ______ are factors of 21.

	1(b)
_______ is a multiple of 7. 
_______ is a multiple of 3.
So, ______ is a multiple of _____ and _____.

	30 ÷ 5 = 6

	2(a)
_______ is a factor of 30.
_______ is a factor of 30.
So, ______ and ______ are factors of ______.

	2(b)
______ is a multiple of 5.
______ is a multiple of ______.
So, ______ is a multiple of _____ and _____.

	6 ÷ 1 = 6

	3(a)
_______ is a factor of 6.
_______ is a factor of _____.
So, ______ and ______ are factors of ______.

	3(b)
______ is a multiple of 6.
______ is a multiple of _____.
So, ______ is a multiple of _____ and _____.

	28 ÷ 7 = ____

	4(a)
_______ is a factor of _____.
_______ is a factor of _____.
So, ______ and ______ are factors of ______.

	4(b)
______ is a multiple of ______.
______ is a multiple of ______.
So, ______ is a multiple of _____ and _____.

	24 ÷ ____ = ____ 

	5(a)
_______ is a factor of _____.
_______ is a factor of _____.
So, ______ and ______ are factors of ______.

	5(b)
______ is a multiple of ______.
______ is a multiple of ______.
So, ______ is a multiple of _____ and _____.





Answers for reference

	21 ÷ 7 = 3

	1(a)
___3____ is a factor of 21.
___7____ is a factor of 21.
So, __3___ and __7___ are factors of 21.

	1(b)
__21____ is a multiple of 7.
__21____ is a multiple of 3.
So, _21__ is a multiple of _3__ and _7__.

	30 ÷ 5 = 6

	2(a)
__5_____ is a factor of 30.
__6_____ is a factor of 30.
So, __5__ and __6__ are factors of _30__.

	2(b)
__30____ is a multiple of 5.
__30____ is a multiple of ___6___.
So, _30__ is a multiple of _5__ and _6__.

	6 ÷ 1 = 6

	3(a)
__1_____ is a factor of 6.
___6____ is a factor of __6___.
So, __1__ and __6__ are factors of __6__.

	3(b)
__6____ is a multiple of 6.
__6____ is a multiple of __1___.
So, __6__ is a multiple of _1__ and _6__.

	28 ÷ 7 = ____

	4(a)
___4____ is a factor of _28____.
___7____ is a factor of _28____.
So, __4__ and __7__ are factors of _28__.

	4(b)
__28____ is a multiple of __4____.
__28____ is a multiple of ___7___.
So, __28__ is a multiple of _4_ and _7__.

	24 ÷ ____ = ____ 

	5(a)
___3____ is a factor of __24___.
___8____ is a factor of __24___.
So, __3__ and __8__ are factors of _24__.

	5(b)
__24____ is a multiple of __3____.
__24____ is a multiple of __8____.
So, __24__ is a multiple of _3__ and _8__.




Name:_______________________					Date:________________
Class: _____________ (      )

	21 ÷ 7 = 3   or   21 ÷ 3 = 7

	1(a)
_______ is a factor of 21.
_______ is a factor of 21.
So, ______ and ______ are factors of 21.

	1(b)
______ is a multiple of 7.
______ is a multiple of 3.
So, ______ is a multiple of _____ and _____.

	30 ÷ 5 = 6   or   30 ÷ 6 = 5

	2(a)
_______ is a factor of 30.
_______ is a factor of 30.
So, ______ and ______ are factors of ______.

	2(b)
______ is a multiple of 5.
______ is a multiple of ______.
So, ______ is a multiple of _____ and _____.

	6 ÷ 1 = 6   or   6 ÷ 6 = ___

	3(a)
_______ is a factor of 6.
_______ is a factor of ____.
So, ______ and ______ are factors of ______.

	3(b)
______ is a multiple of 6.
______ is a multiple of _____.
So, ______ is a multiple of _____ and _____.

	28 ÷ 7 = ____   or   28 ÷ ___ = __

	4(a)
_______ is a factor of _____.
_______ is a factor of _____.
So, ______ and ______ are factors of ______.

	4(b)
______ is a multiple of ______.
______ is a multiple of ______.
So, ______ is a multiple of _____ and _____.

	24 ÷ ____ = ____

	5(a)
_______ is a factor of _____.
_______ is a factor of _____.
So, ______ and ______ are factors of ______.

	5(b)
______ is a multiple of ______.
______ is a multiple of ______.
So, ______ is a multiple of _____ and _____.





Answers for reference

	21 ÷ 7 = 3   or   21 ÷ 3 = 7

	1(a)
___3____ is a factor of 21.
___7____ is a factor of 21.
So, __3___ and __7___ are factors of 21.

	1(b)
__21____ is a multiple of 7.
__21____ is a multiple of 3.
So, _21__ is a multiple of _3__ and _7__.

	30 ÷ 5 = 6   or   30 ÷ 6 = 5

	2(a)
__5_____ is a factor of 30.
__6_____ is a factor of 30.
So, __5__ and __6__ are factors of _30__.

	2(b)
__30____ is a multiple of 5.
__30____ is a multiple of ___6___.
So, _30__ is a multiple of _5__ and _6__.

	6 ÷ 1 = 6   or   6 ÷ 6 = ___

	3(a)
__1_____ is a factor of 6.
___6____ is a factor of __6___.
So, __1__ and __6__ are factors of __6__.

	3(b)
__6____ is a multiple of 6.
__6____ is a multiple of __1___.
So, __6__ is a multiple of _1__ and _6__.

	28 ÷ 7 = ____   or   28 ÷ ___ = __

	4(a)
___4____ is a factor of _28____.
___7____ is a factor of _28____.
So, __4__ and __7__ are factors of _28__.

	4(b)
__28____ is a multiple of __4____.
__28____ is a multiple of ___7___.
So, __28__ is a multiple of _4_ and _7__.

	24 ÷ ____ = ____

	5(a)
___3____ is a factor of __24___.
___8____ is a factor of __24___.
So, __3__ and __8__ are factors of _24__.

	5(b)
__24____ is a multiple of __3____.
__24____ is a multiple of __8____.
So, __24__ is a multiple of _3__ and _8__.



